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1. ZMEE
S BNME 150, 000
BWEEZNEE 150, 000
ZWMASE 15, 000 315, 000
2. ZWHFME
ZENE K& 25, 000
R VT4 72 AFHEE 100, 000 125, 000
3. XM ESHF
REBIRE 1,620, 000 1, 620, 000
4. BEINE
O—N\— FEEINE 10, 000
KERHIEEE U 10, 000
ZE/NbO—)LBEINE 10, 000
BENMBEEREESEINE 10, 000 40, 000
5. ZDhDINEE
ZHFE 1,000
P FNER 10, 000 11,000
BEUNEET 2,111,000
IREEH
1. BEE
PN
RS T4 7RZAFHEER 50, 000
ANGEET 50, 000
(2) ZDihizE
=& 50, 000
REXBE 1, 400, 000
HoE 250, 000
HE 100, 000
ZDtDBREET 1, 800, 000
EEES 1, 850, 000
2. EHE
PN
RS oT 4 72 AFHEE R 50, 000
ANGEET 50, 000
(2) ZDihizE
=& 30, 000
BEE 20, 000
EEH 30, 000
HERE 50, 000
= 20, 000
FHFR AR 50, 000
HE 15, 200
ZOthEE 215, 200
EIEEET 265, 200
BREERE 2,115, 200
LR EEEEE -4, 200
I #FESNIRE
BREMNINEEET 0 0
ViEENER
BRENERE 0 0
2 HA IF bR B EE 1R R -4, 200
ATHA AR IE DR BA FE2E 4,200
REAHEHIE LR BA FERE 0
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